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	CSIT 301

Review
	Name: __________________________


Construct the 16's complement of the decimal number 3A7.

	
	3
	A
	7

	+
	C
	5
	9

	
	0
	0
	0


What is the largest integer (signed) number that can be represented using 14 bits? 

	2^13 -1 = 8,191



The following program and data are stored in memory.  Determine the value in the accumulator just before executing each line. 

	Address
	Memory Value
	Value in Accumulator A before evaluating line of code

	0
	LOAD INDIRECT 8
	XXX

	1
	ADD IMMEDIATE 7
	9

	2
	ADD 6
	9+7=16

	3
	STOP
	16+10=26

	4
	8
	

	5
	9
	

	6
	10
	

	7
	4
	

	8
	5
	

	9
	6
	

	10
	7
	

	11
	12
	

	12
	11
	


Fill in the table below with the corresponding infix.  

	Infix
	Postfix

	
	3 9 8 + * 6 5 4 * + 7 2 + * +  


3 *(9 + 8) + (6 + 5* 4) * (7 + 2)   
1 of 1

